ITEMNO. | PART NUMBER DESCRIPTION MATERIAL FINISH QrY.
SINGLE ARM FACE
1 SS201FT MOUNTED S20 SPIDER GD316 SS | BRUSHED #4 1
2 HB-M16x50 Hex Bolt M16x50 A2-70 (18-8) | EXWORKS 1
3 Hex Nut M16 Hex Nut M16 A2-70 (18-8) | EXWORKS 1
4 SW-M16 LOCK WASHER M16 | A2-70 (18-8) | EXWORKS 1
5 HN - M16 WASHER FLAT M16 A2-70 (18-8) | EXWORKS 2
e
<o
TOP / PLAN VIEW T -
l_ S—
o
o
Qe
=~
o=
oYX
QT
«» ©
ISOMETRIC VIEW
\ ‘ SCALE 1:2
| |
| |
| f = == T =
| TS T Y | ~ wv®
o \ \ ro © =
Mo | | Iy e} =)
(N | [ Lo o ™
~ | LN =
o/ | S
O —~ —
~ ©
-—
= ?37.0 (1 1/2")
ol INTERNAL CAVITY
0
|
} GENERAL TOLERANCES (mm) UNLESS SPECIFIED
1 000 LINEAR DIMENSION TOLERANCES (ISO 2768 - FINE)
(3 1 5/1 6") NOM. DIMENSION 05703 37106 67030 3070 120 120 TO 400 400 TO 1000 1000 TO 2000 2000 TO 4000
ANGULAR DIMENSION TOLERANCES (ISO 2768 - FINE) EXT. RADIUS / CHAMFER HEIGHTS (ISO 2768 - FINE)
ELEVATION vl EW NOM. DIMENSION 0TO 10 10 TO 50 50 TO 120 120 TO 400 NOM. DIMENSION 05T03 3706 OVER 6

EXPLODED VIEW

** NOTE: SUGGESTED PAIRING - STELLA ARTICULARING BOLTS **

(RN .
1 T

THIRD ANGLE PROJECTION
SCALE

ASSEMBLY DRAWING - SKU #SS201FTNHH6S013

stel

SINGLE ARM FACE MOUNTED S 20 SPIDER - SS20TFT: 1 1—
100mm [3 15/16"] LONG SPIDER FITTING w/ BRUSHED #4 FINISH DWG No ! UNT 1056218 NORTH FRASER WAY, BLRNABY, . VaN 020
(INCLUDES M16 HEX BOLT & NUT, FLAT & LOCK WASHERS) SS201F TNHHES013

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written permission of that company

Paper size 11"x17"




	Model
	Drawing View7
	Drawing View11
	Drawing View12
	Drawing View14


